DPP No. 8

SYLLABUS : FUNCTION

1.

2+x 8a
If f(x)= Iog , 0<a<2then —f 1+ =

1
A f (B) 2f (a) © 7@ D) —f (a)

The range of cos? x + sin* x is —

3 ; ,
) {Z’l} ®) [0, 1] © {o,ﬂ ©) {_I’T}

If a function f: [2 , «0) — B defined by f(x) = x> — 4x + 5 is a bijection, then B is equal to
(AR (B) [1, ) (C) [4, ») (D) [5, »)
COS X

f(x)= [ }r , where x is not an integral multiple of = and [.] denotes the greatest integer function is -
T 2

(A) an odd function (B) even function
(C) neither odd nor even (D) none of these
If f(x)= iy gthen f(x + y). f(x—y) is equal to-
1 1
(A) F [fx +y) +Tx-y)] (B)7 [f(2x) + 1(2y)]
1
©) 5 [f(x+y). f(x=y)] (D) none of these

VsinT' X+ X% +1 +x - [x] +logx

The domain of definition of the function f(x) = g /sinx+eosx +Iog{sin[ 1 _ B is -
=X
(A) 1, 1) B, 1)
©) (1,0 (D) None of these
X
If f(x) = ,(1+x2) , then (fofof) (x) =
3X X 3x
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10.

1.

12

13.

14.

15.

16.

17.

Which of the following statement is incorrect -
(A) x sgn x = |x| (B) |x]| sgn x = x
(C) x (sgn x) (sgn x) = x (D) Ix| (sgn x)° = |X]

The number of solutions of the equation sin nx = |log| X|| is -
Let f : R = R be a function such that f(x) = x®* + x2 + 3x + sin x. Then -

(A) fis one-one and into (B) f is one-one and onto
(C) f is many-one and into (D) f is many-one and onto

f(x) = (tan x%) ox’senx’ s -

(A) an even function (B) an odd function
(C) neither even nor odd function (D) None of these
If the function f : [1, + ) — [1, +0) is defined by f(x) = 22¢-" then ' (x) is -

1 x(x-1)
A) [5) (B) %(l+,/l+4log2x)

1
©) 5(1 _ T+ iog; %) (D) not defined

2x(sinx +tanx)
The graph of f(x) = z[x +21n} 41 is symmetric about -

i

(A) x-axis (B) y-axis (C) origin (D) None of these

Which pair of functions is identical?

(A) sin~'(sin x) and sin (sin~' x) (B) log, €, clogex

(C) log, x*, 2 log, x (D) None of these

If f(X) is a periodic function having period 7 and g(x) is periodic having period 11 then the period of

X
f(x) f[gj

D(x) = x| is -
g(x) 9[3]

2
The range of the function f(x) = tan ,/%—Xz is

1
A0, |31 ® Q. J3) ©wp &) © {o,f}

The range of the function f(x) = log(3x? — 4x + 5) is

11 11
(A) (=, ) B) {log(?} OOJ ©) [log(?} OOJ (D) none of these




2

o 2

18. If f(x) = cos {7} + sin{— %} X, where [.] denotes the greatest integer function, then which of
the following is not correct
(A) f(0) = 1 (B) f[”} — © f[”} 0 (D) f(z) = 0
= —| = —| = T) =
3 \/§+1 2
1 n 151
19. Letf(n) = {EJFW]Where [.] denotes the greatest integer function, then the value of Z f(n) is
n=1
1 xeQ
20. f(x) 1 xeRr-_q: ff(D) +f(2) +f(x) + f(p) = 0, then p cannot be
(A) —e B) V2 ©) 3 (D)4
21. The number of solutions of equation ¢ _ _y2(where {.} is a fractional part function)
22. The number of solutions of equation sinnx =| x| are
-1 ,x<0
23. letg(x)=1+x—-[x]and f(x) = 10 ,x=0_ Then for all x, f (g (x)) is equal to (where [.]
1 ,x>0
denotes greatest integer function)
f(g(x)) = sgn (1 + {x}) = 1
24. The graph of the function y = f(x) is symmetrical about the line x = 2, then :
A)fx+2)=f(x-2) (B) f(2 +x) =f(2 - x)
(C) f(x) = f(-x) (D) f(x) = —f(—x)
25. Period of the function f(x) = [5x + 7] + cosnx — 5x where [] denotes greatest integer
function is
[
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